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>> B=(3>5)
E:

0
>> B=(3>=)H)
E:

0
=»> B=(3~=5)

=>> B=(0==0)

>> R=[1,2;3,4]

R:

>» §5=[3,2:;4,5]

1
3

2
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0

1
=> b=R(R>0)
h =

1

3

2

-

>> Cc=5(5<5)
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>> a=1,b=2
a =

1
b =

2

>> (ax0) & (b>0)
ans =

1
>> (a>0) & (b<0)
ans =

0
>> (ax=0) | (b<0)
ans =

1
>> =3
c =

3

>»> (c>2) & (c<d)

= (c=d) | (c<d)
ans =

1
>> (c<l) & (c>=5)
ans =

0
>> (c<1l) | (c=5)
ans =

0
>> (c<l) | (c>2)
ans =

1
> (c<l)&(c=2)
ans =

0
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S>> 242-2%2 /240 >> 1&0 >> (1]10)&0

dIls :3 ans = ans =

>> (2+2)-2*%(2/2) "2 0 ’

ans — >> 110 >> 1] (0&0)
5 ans = ans =

>> (242-2%2/2) "2 1 1

ans = >> 1|0&0
c ans =

1
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n F =2
: if-else-end bpp =
)
Sgo byd (win @y ages ol ¢ 3;
338 (0 8 oslasul i
Elseif (¥ b,) i
P Olygiws ;3
. : : 4
Elseif (¥ b ) If, elseif, else 2
¥ Ol)giws Execute statements if condition is true 9
4
A
Else Syntax _,§
C.l';,}'m_"p 4 if expression .
End statements
elseif expression
statements
else
statements
end
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| project_T.m = | + |

1 - clear zll;close zll;clc

L= n=input ('please enter your number = ')
3 - p=mod (n, 2) ;

4

S — if (p==0)

6 — disp('your number 1s even')

1 — else

8 — disp('your number 1s odd")

g — end
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Command Window

please enter your number = 34
n =
34
your number 1s even
>

L3
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function delta( A,B,C )
D=B"2-4*A*C;
1f (D<0)
disp ('No Root')
elself (D==0)
X1=-B/ (2*L)
X2=-B/ (2*L)
else
x1=(-B-sgrt (D)) / (2*Rn)
x2=(-B+sqrt (D)) / (2*R)
end
end

Command Window
>>» delta(l, 2, 1)

>> delta(l,12,-23)

X1l =
-1
X2 =
-1
X1l =
-13.6811
XZ =
1.6811
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>>» delta(l, 2, 3)

No Root
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function ghaem(a,B,C)

flag=0;

1f (A~2==B"2+C"2)
flag=1;

elself (B"2==A"2+4C"2)
flag=1;

elself (C*2==LA"24B"2)
flag=1;

end

if (flag==1)
disp ('Yes'")

else
disp('NO")

end

end 'I!' '!!'

Command Window
=> ghaem(3,4,5)
Yes
>> ghaem(l, 2, 4)
NO
>> ghaem (23,43, 34)
NO
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Command Window

e

GO
=

GO
=

GO
I

GO
e

GO
e

QK

hads adad 1(500)
down

hads adad 1(300)
up

hads adad 1(440)
down

hads adad 1(430)
up

hads adad 1(435)
down

hads adad 1(434)
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~Ifunction hads adad 1(a)
adad=434;
1f (a=adad)
disp('Go down')
elselif (a<adad)
disp('Go up')
elself (a==adad)
disp ('OK")
else
disp('your 1nputs was 1lncorrect')

—end
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| project_2.m = | + |

1 — clear alljclose all;clc

2= n=input ('please enter your number = ')
3

4 — 1f (n<10) & (n>=0)

5 — p=mod (n, 2) ;

6 — if (p==0)

T — disp('your number 15 even')

g8 — else

9 — disp('your number is odd')
10 — end
11 — else
12 — disp ('please enter only one-diglit numbers.')
13 — end
14
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Command Window

Which function to plot?

sin(x) ===> enter (1)
cos (x) ===> enter (2)

Which color do you choose? '
Red ===> enter (r) Zi
Black ===> enter (k) 0.4

0.2
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? === 'r'

0.2
0.4
0.6

-0.8




| project_3.m = | + |

1 - clear all;close all;clc
4= disp ('======= SALAM ======="')
3 — disp('Which function to plot?'")
4 — disp('sin(x) ===> enter (1)"'")
S — disp('cos(x) ===> enter (2)")
6 — fn=input (' 2 == ");
o= disp('Which color do you choose?')
8 — disp ('Red ===> enter (r)")
g — disp('Black ===> enter (k)")
10 — cn=input (' ? === ");
11 — x=0:0.01:2%pi;
12 — if (fn==1)&(cn=="r")
13 — plot(x,sin(x),'r")
14 — elseif (fn==2)&(cn=="r")
15 — plot(x,cos(x),'r")
16 — elseif (fn==1) & (cn=="k")
17 — plot (x,sin(x), "'k")
18 — elseif (fn==2) & (cn=="k")
19 — plot(x,cos(x), 'k")
20 — else
21 — disp('Please enter the correct information.')
22 — end
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; switch-case byb

coidle ly puil dinlgs ST
38 (0 8 ooslasul

switch, case, otherwise
Switch dmong several cases based on E.‘-I[::IFESSiDﬂ

otherwise

] JT V) syntax
End switch svitch expression

ca3ge case -E'KPI‘-E'S..S‘i orn

—
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Statem=nts

ca3e Ccase EJ{P:ESSi oIl

sStatemsents

otherwise
Statements

end

L3
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Command Window
>»> plot switch(1)
>> plot switch(2) o2
>> plot switch(3)
>> plot switch(é)
enter 1,2,3
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end

-end

~]function plot switch( n )
close all

Xx=—-pi:0.001:pi;

switch n

plot(x,y, 'k', 'LineWidth', 3):
x1lim([-pi pil)

case 1
y=s51in(x) ;
case 2
y=C05 (X) ;
case 3
y=sinc (x) ;
otherwlse
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disp('enter 1,2,3")

L3
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N
Command Window 8_,[_, )‘.59.0.3 aS St g LS‘ 40{3)_3 ‘%
_ _ L sinc(®) L cos(x) L sIn(x) B
Wl'.llcl'l function to plot? &‘,)bwl;:;obcot(x)btan(x) 3)
sin(x) ===> enter (1) T ¢ .
cos(x) ===> enter (2) )‘U[S ob}b 111_
sinc (x) ===> enter (3) red , plack , green , blue, ) ™
tan(x) ===> enter (4) WY (o) (cyan ‘-3
SOt === enter (3 switch gtuss e b asy o [ES
Which color do you choose? MS'U §
Red ===> enter (r) a
Black ===> enter (k) %
Green ===> enter (g)
Blue ===> enter (b)
Cyan ===> enter (o)
? ==> !

==
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project 4m = | -+ |

clear all;close all;clc
disp('======= SALAM
disp('Which function to plot?')
disp('sin(x) ===> enter
disp('cos(x) ===> enter
disp('sinc(x) ===> enter
disp('tan(x) ===> enter
disp('cot (x) ===> enter

fn=input (' 2 === "1

disp('Which color

disp ('Red ===

disp('Black ===>
disp('Green ===>
disp('Blue ===>
disp('Cyan ===

cn=input (' ? ==> '
x=0:0.01:2%pi;

) :

do you choose?')

enter
enter
enter
enter
enter

)i

(1) ")

(2
(3
(4

)
)
)
(3)

(r)?'
(k
(g
(b
(c

"

T

T
T

)
)
)
)

T
T

T
T

)
)
)
)
)

)
)
)
)

19 —
20 —
21 —
22 —
23 —
24 —
25 —
26 —
27 —
28 —
29 —
30 —
31 —
32 —
33 —
34 —
33 —

switch fn
case 1
y=s1in(x) ;
case 2
y=cos (X) ;
case 3
y=sinc (x);
case 4
y=tan (x) ;
case 5
y=cot (x) s
otherwise
clc
disp('Only 1,2,...,5"}
y=xX*0;
end
plot(x,vy,cn)
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Command Window

>> help prj switch
5 ==> masahat
m ==> mohit
for example : prj switch('m',2)
prj switch('s',2)

—
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>> prj switch('m',1)

m:

6.2832
>> prj switch('s',1)
5:

3.14186




: JUb

E function prj switch(a,r)
—1% 5 ==> masahat

$ m ==> mohit
5 for example : prj switch('m',2)
- % prj switch('s', 2)
switch a
case 'm'
m=2*pl*r
case 's'
S=pl*r~2
otherwise
disp('...error...")
end
—end

—
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. for ala

for jgues Jl (oues pldl |y Joe o poloo Wy @ paitlh dilgs ST ¢

For wvariable=a

—
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O ylgws
J for
for-loop over distributed range
End Syntax
for variable = drange{colonop)
Ftatement
statement
end
Description

The general format is

for variable = drange(colonop)
Statement

statement

end

&
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Command Window

>> help mazrab
for example: mazrab(8)

>» mazrab(1l1l)

1 =
11
1 =
22
1 =
33
1 =
44
1 =
25

66

17

88

9%
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; aslip a5

t

1 -] function mazrab( a ) i

2 t for example: mazrab(5) ::i

3— [ Ifor i=a:99 3

4 — k=mod (1, a) : =

=~ if k==0 3

6 — i 3

7 — end %
8 — -end
9 — -end




: JUb

1. 1. .
e (Y3 = gsm(x) Yy = Esm(x) Y1 = sin(x) (sljlsgas *

. . 1
e oy S Sy sy y10 = 5 sin(x) ¢
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~|function plottingl ( )

¥x=0:0.001:2%pi;
figure

x1im ([0 2*pil):
ylim([-1.1 1.1]1):
hold on

~for 1=1:10

y=(sin(x))/1;
plot(x,vy, "color',rand(1,3));

-end
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>> zarb 1
1 3 4 5
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~function zarb 1( )

Z=zeros (5);

~for 1=1:5

- for j=1:5

Z(1,])=1%];
- end

-end

disp(2)

—end
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Command Window i
>> maghsoom adad (24) ?3
1 4
2 ,?‘
3 9
4 4
4]
6 A
B 4
12
24
>> maghsoom adad(10)
1
2
5 2
] 10 ==




: JUb

- for

-end

-end

1=1:a
m=mod (a, 1) ;
1f (m==0)

disp(i):
end

~/function maghsoom adad(a)

—
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45~

40+

35

30~

¥ | plat 5_2.m

25~

clear alliclose zll:clc

N=10;

¥x1=1linspace(0,50,N);

hold on

x2=linspace(0,25,N);

X3=[x1(1)
x3=[x1(2)
X3=[x1(3)
x3=[x1(4)
X3=[x1(5)
x3=[x1(6)
X3=[x1(7)
X3=[x1(8)
X3=[x1(9)

X2 (N)]:

X2 (N-1)1;
X2 (N-2)]1:
X2 (N-3)1;
X2 (N-4)]1;
X2 (N-5)1;
X2 (N-6)]:
X2 (N-T7)1;
X2 (N-8)1:

y1=0*x1;
plot(x1l,yl,'k',"'linewidth', 3)

y2=2%x2;
plot(x2,y2,'k', "linewidth', 3)

y3=[yl(1)
y3=[yl(2)
y3=[y1(3)
y3=[yl(4)
y3=[y1(5)
y3=[yl(e)
y3=[y1(7)
y3=[yl(8)
y3=[y1(9)

y2(N)];

y2(N-1)];
yZ2(N-2)];
y2(N-3)];
yZ2(N-4)]1;
y2(N-5)];
yZ2(N-6)];
y2(N-T7) ]
yZ2(N-8)1;

20~

15

10~

plot(x3,vy3, 'k")
plot(x3,vy3, 'k")
plot(x3,y3,'k")
plot(x3,vy3, 'k")
plot(x3,vy3, 'k")
plot(x3,vy3, 'k")
plot(x3,vy3, 'k")
plot(x3,vy3, 'k")
plot(x3,y3,'k")

x3=[x1(10) x2(N-9)1; y3=[yl(10) y2(N-9)];plot(x3,y3, k")

20

25

30

35

40

45
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|- plot_3.m “’.| plot_5_2dm = | + |
1 - clear allsclose all;clc
2 — N=10;
3 - x1=1linspace(0,50,N) y1=0*x1;
4 — plot(xl,yl,'k',"linewidth", 3)
S — hold on
6 — x2=1linspace (0, 25,N); V2=2%X2;
7 - plot(x2,vy2,'k', "linewidth', 3)
8
9 — for 1=1:N
10 — Xx3=[x1(1) 2 (N-1+1)]1:
11 — y3=[yl(i) y2(N-i+1)]:
12 — plot(x3,vy3, "k")
13 — end
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aval number =
11
13
17
15
23
29
31
37
41
43
47
53
529
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1 — clcyclear alliclose all;

—
2 — min=10; :’3)
3 — max=100; %
4 — add aval=[]; i;
5— [-lfor a=min:max —
6 — b=0; 3)
7— [ for i=l:a 111
8 — m=mod (a2, 1) ; A
g — 1f (m==0) _‘3

10 — b=b+1; "}:

11 — end 9

12 — - end g\

13 — 1f (b==2) ‘%

14 — add aval (end+1)=a-r

15 — end

16 — —end

17 — aval number=add aval'
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. While adla

While (b ,.3)
Q}',Im.’l

End

—
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while
Repeatedly execuie statements while condition is true

Syntax
while =xpression
statements
end
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Command Window

>>» prj while(10)
0

(o T R T =

10

23 pule

—
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: JUb

>

%
1 -/ function prj while( a ) _}
2 — 1=0; 3
33— |“lwhile (1<=a) 3
4 — disp (i) ; i"i
=] 1=1+2; g
€ — end -%
7— ~end
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<{;j;a> Command Window

>> fibo(3)
SbLn 1

1
2

>> fibo (10)
1

1

2
3

13

21
34
35
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L=1;
B=1;
C=0;
i=1;

-end

-end

function fibo( n )

while (1<=n)
disp (&)
A=B+C;
C=B;
B=4A;
1=1+1;
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Command Window
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>> hads adad 2
please enter number between [0-1000]

number = 500 number = 275
Go down Go up

numper = 250 number = 285
Go up Go down
number = 3795 number = 280
Go down Go down
numper = 333 number = 278
Go down Go up

number = 300 number = 279
Go down OK J
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~|function hads adad 2()
disp('please enter number between [0-1000]")

flag=1;
adad=randi ([0 1000],1,1):
~lwhile (flag)
a=input (' number = ");
if (aradad)
disp('Go down')
elseif (a<adad)
disp('Go up')
elself (a==adad)
disp('OK")
flag=0;
end
-end

—end
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clc;clear all;close all;
Q=zeros (3);
¥x=randperm(3) ;
flag=1;
~lwhile (flag)
y=randperm(3) ;
if (y ~= X)
flag=0;
end

—end
flag2=1;

~lwhile (flag2)

z=randperm(3) ;

if (z ~= x)
if (z ~= y)

flag2=0;

end

end

-end
Q=[x;yr;Z]
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clc;clear allrclose ally;
Q=zeros (3) ;
Xx=randperm(3) ;

flag=1;
~lwhile (flag)
y=randperm(3) ;
if (y ~= X)
z=randperm(3) ;
if (z ~= x)
1if (z ~= vy)
flag=0;
end
end
end
-end
Q=[x;y:z]
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clc;clear all;close all;

N=input ('your number ?
Qg=zeros (2,N+1) ;

-] for

—end

1=0:N

k=mod (1, 4):

1if (k==0)
Xx=(-1/4);
V=X

elselif (k==1)
Xx=(1-1)/4+1;
y=—(1-1)/4;

elself (k==2)
X=(1-2) /4+1;

V=X7

else
x==((i+1)/4);
V=—X;

end
Q(:,1+1)=[xsVy];

===_'} T ] ;

plot (Q(1,:),Q(2,:),'-ko","linewidth', 4, 'markersize',7)
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|- plot_5.m ;‘-“El plot_5_2.m 3"3| plet_b.m®* = | pri_3.m 3"3| + |
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15
16

clear zll;close zall;clce

N=50;
t=linspace(0,2%*pi,N);
figure (110)

hold on

- for 1=1:N

¥x=cos (t)+cos(t (1)) ;
y=sin(t)+sin(t(1)):
plot(x,y, 'k', "linewidth', 2) ;

- end

axlis equal
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| plot_5.m

ﬂl plot_5_2.m 3'3| plot_&.m™ ﬂ| pri_dm |
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clear all;close zll;clce
N=50;
x1=linspace(0,50,N) ;
plot(xl,vyl, "k")
hold on
x2=1linspace(0,25,N);
plot(x2,v2, "k")
for 1=1:N
®x3=[x1(1) =x2(N+1-1)1:
plot(x3,y3, "k")
end
x4=1inspace(25,50,N) ;
plot(x4,v4, "k")
- for 1=1:N
x5=[x1(1) x4 (N+1-1)]1:
plot (x5,y5,"k")
- end
-] for 1=1:N
Xe=[x2(1) x4(1)]:
plot(xe,vye, "k")

- end

pri2m* 3 | + |

y1=0%*x1;

yZ2=tan(pi/3) *x2;

y3=[yl (1) y2(N+1-1)];

yd=—tan (pi/3) *x4+2*y2 (end) ;

yo=[y1l (1) y4(N+1-1i)];

ye=[y2(1) y4(1)]1:
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